1100 - 1600 mm

- 800 mm -
al it
[ |
G
a B
220 mm
= =

www.multibrackets.com

| i

200
605 mm

-

250 mm
~ { i

041 154 131 revA

M U LTI B R A CKET S

Installation
manual

M Motorized Public Floormount 160kg Black SD

EAN: 7350073734603

Instalacni manual
Installationsmanual
Installationsanleitung
Paigaldusjuhend
Odnyieg eykaraaTaong
Manual de instalacion
Asennusohje
Installation Manuel
NIpNN N

Szerelési kézikdnyu
Manuale di installazione
BV FHAE

MR dEM

Montavimo instrukcija

UzstadiSanas rokasgramata
Installatie handleiding
Installasjonshandbok
Instrukcja instalacji

Manual de instalagéo
Manual de instalare
WMHCTpyKums no yctaHoBke
InStalaény manual

Navodila za montazo
Installationsmanual

Montaj kilavuzu

REFH

OO OOOOLOEOOOO®OEEO®O®O

www.multibrackets.com

o




www.multibrackets.com

www.multibrackets.com



N, ©O

SW 5/6/8

VESA <800 x 600

5 www.multibrackets.com

o o o o

[—)

VESA

50-900

200

50

Warning!

aadl

Sl ilee b s o U 1 Gae Laila Gl
ADVARSEL!
WARNUNG!
MPOEIAOMOIHZH!
WARNING!
JAVISO!
VAROITUS!
ATTENTION!
ATTENZIONE!
Varovani!
ADVARSEL!
OSTRZEZENIE!

otworéw.
NPEAYNPEXOEHUE!

VARNING!
UYARI!

FRSEFRRENREILRORE.

AI\_Nays check the depth of the holes before starting an installation.

Kontroller altid hullernes dybde, fer du gar i gang med en installation.

Vor Beginn des Einbaus immer die Tiefe der Bohrungen tberpriifen.

EAéyxeTe TTGvTOTE TO BAOOG TWV 0TIV TTPOTOU EEKIVATETE TNV EYKATACTAOT).
Always check the depth of the holes before starting an installation.

Controle siempre la profundidad de los agujeros antes de iniciar una instalacion.
Selvita reikien syvyys ennen asentamisen aloittamista.

Vérifiez toujours la profondeur des trous avant de commencer l'installation.
Verificare sempre la profondita dei fori prima dell'installazione.

Pred zacatkem instalace vzdy zkontrolujte potfebnou hloubku vech otvord.

Sjekk alltid hvor dype hullene er fer du begynner @ montere.

Przed przystapieniem do montazu nalezy koniecznie sprawdzi¢ gtebokos¢

Mepen ycTaHoBKOW BCeraa npoBepsiiTe rnyGuHy oTBEpCTHiA.

Kontrollera alltid halens djup innan en installation pabérjas.

Montaja baslamadan 6nce daima deliklerin derinligini kontrol edin.
&1

WARRANTY CARD

MULTIBRACKETS.COM

MULTIBRACKETS ™ Limited Warranty

Multibrackets warrants its products to be free of defects in
material and workmanship for the product’s Warranty Period
The Warranty Period commences on the original purchase
date of the product.

All Multibrackets products are covered

by a limited product warranty:

*FIVE (5) years fer metal video monitor mounts; all racks
and non-electrical rack accessories

*TWO (2) years for gaslifts and sit-stand workstations

*ONE (1) year fer all motorized and/or autorated products,
plastic speaker mounts, all speaker stands, all furniture; all
wood (MDF) accessories

For warranty claims made during the Warranty Period, MULTI
BRACKETS will replace any defective product part free of charge.
Should a part on your Multibrackets product fail, please create an
RMA case on www.multibrackets.com/support to make a warranty
claim. We will await your documentation and then discuss the
problem with you and once we confirm the product is under war
ranty, we will ship replacement parts to you. This Limited Warranty
does not cover the costs of removing and replacing defective parts
from your Multibrackets product. So, if your problem requires a
repair technician, you must pay any labor charges.

This Limited Warranty extends only to the original purchaser
of the product and is automatically void if your Multibrackets
product is modified in any way, improperly installed, taxed beyond
its stated weight capacity or otherwise misused or abused. All
Multibrackets products are intended for indoor use only and any

outdoor use voids this Limited Warranty. The Limited Warranty for
wall and ceiling mounts is void if the mount is moved from its initial
installation. Te the maximum extent permitted by applicable law,
Multibrackets disclaims any other warranties, express or implied,
including warranties of fitness for a particular purpose and war
ranties of merchantability. Multibrackets will not be liable for any
damages whatsoever arising out of the use or inability to use its
products, even if Multibrackets has been advised of the possibility
of such damages. Te the maximum extent permitted by applicable
law, Multibrackets disclaims any responsibility for incidental or
consequential damages.

Multibrackets ™ Stockholm Sweden 2016,
www.multibrackets.com

265
605

www.multibrackets.com

2 PERSONS
RECOMMENDED

FOR INSTALLING THIS PRODUCT.




«Q
=
o
x
—
=
N
o

e M10x25

= l@|¢

(2x) (2%) (4%)

M8x16 T
— e  wmiox2s|f M3x10| O

= T | @
‘ % ' SW6
(4x) (4x) (2x) | SW5
J (1x) L (2x) swWs |
h 6 |i M6x18 | j 8|k M8x20 || 10 /M __ M10x25 =~ \
] N p 3y
i RS )
(4%) (4%) (4x) (2%) (4%) (4%)
X Phillips head 1SWZ A\—ll\ o O
v L i _ .
included T —
T~— |
(4x)  (4x)

3 www.multibrackets.com www.multibrackets.com



	Page 1
	Page 2
	Page 3
	Page 4

